
S2 Appendix. Extraction variation within the bed The evaluation of
extraction yield within the coffee bed requires the calculation of the local extraction
yield and the variation of extraction yield across the bed. The local extraction yield (%)
for one grain size can be defined by:
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Similarly for two grain sizes the local yield is:
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The generalisation to multiple grain sizes should be clear. The average yield over the
bed can be computed using:
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where Vbed is the volume of the bed and dV is a volume element. The standard
deviation can be calculated using a similar volume weighted standard deviation.
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